:(2000) At3IOH I

St

2 (2100) D2 L 25| 5210 HSHAEUNE  HE:(RNUSTE HIHIEE: (120) 2 AR 2 b R NMGERE
J| & _ _
ol = o & o ow B A2 A = 5] x
2120
ISHAERE 10,050,075 10,169,897 A119.8022 | [= 50,400]
2121
ERE 3,961,796 4,081,618 119,822 1= 60,4001
100
2 ALO AF 1,791,864 1,973,564 181,700
120
24 AR 2 | 1,724,039 1,905,739 181,700
201
a2 oyl 254,452 289452 A35.000
195.000 230,000 A35.000 02 A2
O H613 HIME L2 (HA2) - A 15,000
O M3l 20l 22 HI=Hsl (Ro42) - A5,000
O HUDS2AI| Y4 2= HAS 0a(MH2) - A5.000
O H28sl 2aB2EE)| M2ESsD HRACHS
ETEND)
- 10,000
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0I2+0| & 1,107,200 1,253,900 A 146,700
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(7 o1 24}
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O HYEXTR A2 HOIESTHE (FoH) = A5.000
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X1 (2000) AF8ITH b 2 (2100) DS Y 254 SIS HAERE  AE:(2121)HSNE HIHIEE: (120) 2 AR 2 b (22] (o9 &)
J| & _ _
o = o & o ow B A2 A = Il %
0210l Za& =043l (HH2) - A2.500
O A2EOfQI B20H3l(FoH2) - A1.200
X0l 2O S50015 2 2AE X
5.000,0008 X 1Al = 5.000
200
ARSI Ol AF 2,169,932 2,108,054 61.878 60,4001
210
EXAY 1,991,454 1,931,054 60,400 60, 400]
201
QB2 % | 73.000 43.000 30,000
73.000 43.000 30,000 02 S A2 2 H|
O M3l LoI=A) M20{210] IS (H2H) = 10,000
- JHslAl = A= 7.000.0002 X 141 = 7.000
(= 7.000)
- JlE 29| 3,000,000 X 1Al = 3,000
= 3,000)
O ESHHN S 29| 20.000,0008! X 1Al = 20.000
= 20.000)
301
QB A D 37.400 7.000 30,400
30400 0 30,400 11 BlaCRleERSEAD
O XFAOI2E 22| (M85 HZHACHYI)
10,000,000 X 1Al = 10.000
(= 10.000)
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(oo Jou Ry ik

& s HIAIE: (210) B =AY [2F] (&9 8
y) = - - _
O a4l U XD
20,400, 000& X 140 = 20,400
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220
KA A 178,478 177,000 1,478
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Aot S| 61,478 60,000 1,478
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O SFSIMOIT WUZHEI $42
1,478,000& X 14 = 1,478




Z+:(2000) AFSIOH 2] =
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98, 100, 000&
38,100,000&
60,000, 000&

98,100,000&
48,100,000&
50,000, 000&

My

L(2100) DS L 23| S0 HSHALURE  AE:(2123) S AL 2] HIAIE: (210) 2 X ALY =x] (o9 H)
&

i = O] &b OH AF OH s A & AF = J| =
2123
AL 5,904,931 5,904,931 ol [= /410,000
200
AP 0] AF 5,652,195 5,652,195 o/ [= /10,0001

210 = ~10,000]

SXAY 4,060,000 4,060,000 o/l= :

401

NI 4,060,000 4,060,000 0

3,086,480 3,086,480 0101 Al&H
O ®MAES HOIESH A
(2 3 o1 &)

0
A 10,000)
10,000 )
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